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2-5H(even function)
flz)=f(—z) : y=ol tsl] <l s
o : y=cosx

713(odd function)
floz)=—7) « ol et A 2
Oﬂ . = 8111559} y= tan x
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AHelre] niAa A e (addition theorem) |4H5H=2] w2t 2] (formula of half angle)
(7) sin(a+3)=sina cos 3+ cos o sinf3 & (1H=5H)

W B . T T
(8) sinlo—3) =sina cos 3— cos o sinf3 (16) sinto— C;)S o L sin(g/2)= (;osoz

(9) cos (a+ B) =cos a cos B— sina sin

(10) cos (av— B) =cos a cos B+ sina sin S (17) cos?o= 1 -+cos 20 L cos(8/2)= fl-f—czosog

2
tan o+ tan (3
(11) tan(a+3) = 1—cos2a 1—cos o
1—tano tan 3 (18) tan*> o= ——— —  tan(f/2) =/ ———
1+cos2a 1+ cosa

tan ;. — tan

1+ tana tan

(12) tan(a—3) =

Areke] iz 54 (formula of multiple angle)
(SAAGE (1), 9), AD)NA a=pe} 51H)

(13) sin(2a)=2sina cos o

(14) cos(2a) =cos’a —sina=1—2sin’a = 2cos’a—1
2tan a T~ | | | |

—— sin2a+cos2a=1 0|2 2 cos2a-sin2a= cos2a+sin2a—-2sin2a= 1-2sin%a

1 —tan” o = 2cos2a—(cos2a+sin2a)= 2cos2a—1

(13) tan(2a) =
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sin{a+ 3) =sina cos 8+ cosa sinB (7)
+| sin{a— 3) =sina cos f—cosasinB (8)

sin{a+ 3) +sin{la— 8) = 2sina cos 8

1
T HE=Z sinacosf=

T2 Wl 28t

(19) sinacos 5= ! [sm(oz—i—ﬁ)—i—sm(oz B)]

(20) cosacos 3= %[cos (a4 8)+cos (a— 3)]

(21) sinasinf=— %[cos (a+ B) —cos (a— 3

E[Sin(a—l—ﬁ)-l—sin(a—ﬁ)]

)]

(1 22)~(25)E5-E])

+ —
(22) sina+sinf=2sin Ozzﬁ cos 042[3

+ —
(23) sina—sinfA=2cos ath sin «—b

2 2

+ —
(24) cos a+cos 3= 2cos azﬁ oS ozzﬁ

o+ o— 3

(25) cos a—cos B=—2sin 0 sin
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OIFl 2-11  sin75° 9} cos15° & roloiz),

solution

(s

0

2l)
sin75° =sin(45° +30° ) =sind5 "cos30° +cos4d5 °sin30 °

_VZ V32 V2 (1+v3)
2 Z 2

4

1
2
cos 15° =cos (45° —30° ) =cosd5 ‘cos30° +sind5°sin30 °

:\/5\/3_+\/2_i: V2 (1+v3)
2 2 2

2 4
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a—1aT X215}

01|I‘|| 2-12 (1) AAREAS] 2} o] diete], sina=2/3Y W, sin2a 9} cos 20 & -3} 2}
(2) R‘ﬂil/\]-—,—fﬂ‘q 7—}' (]zoﬂ ﬂ]a}O{ Siﬂ()f:—l/S%]_ ’ Sin(a/2)9} oS (&/2)%‘ ?6_]‘04134‘,

solution (D) AAREEC] 7 ool Hlsko], sina=2/3 0] 2E cosa= vV1-(2/3)* = /5 /3°]Th.

. . 2 45 4ﬁ
sin2a=2sinax cosa=2 -+ g . ; =
(BB A) g 1
cos 2a=cos’a —sin‘a=|—| —|—| =—
3 3 9

(2) AdrPEEAe] ZF o] tlsl, sina=—1/3°]2=

24/2
cos (o= \/1—(—1/3)2:T
SERTE
1-24/2
e 1—cosa 3 3—2+4/2
S —= — = — — s
2 2 2 6
(Br2r B Al 1t2y2
o 1-+cosa D 3+2\/§

Cos — = = =




2.2 &St BT

Olikl 2-13 (1) 52 ¢ BT A= 11X 3242 o835 sinT5° cos15° & -1}
(@) FEE AE FoE IAE FAE o]8sl sinT5° +sinl5 & TRl

solution

1
(1) sin75° cos15° = ;[Siﬂ(?f)o +15° )+sin(75° —15° )]

1 0T

= —(sin90° +sin60° ) = —|1+—
2 2 2
7" +15° o —la
(2) sin75" +sinl5” =2sin » Ccos ”
2 3 6
=2sin45" cos 30" =2 - \/_ ‘ \/_:
2 2 2
1
(19) sinozcosﬁ=E[Sin(a-i—ﬁ)-i-sin(a—ﬁ)]
+ J—
(22) sina+sinf=2sin ath CoS 062)6




y =sin'x

¥
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y=x" | n

y = sin x82 y = sin’! x9] JJiid



y=cos! X

y=C08 X

y = cos x2 y = cos™! x9



y = tan X2 y = tan’ !x2I iz
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Bk 2 y = cosec! X
y=sec! x
I | -
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y=sec! x9 i y =cosec! xo 1=



y =cot! xO] Jajx



